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= 91,892
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OALZZEHI (B2 RMUIS) 6,5002 *1,999CH 12,994
= 6,496
< 1,950
e 4,548
OJi&ll2eZl 3,968,000 3,968
= 1,984
< 595
[ia 1,389
At 2tel AR 178,460 152,012 26,448
201 Let2d] 480 432 48
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OAZ2l BEHH 22 23S 28 S204
Al Y| 8,000 »2H x302! 480
202 044l 780 780 0
01 = LH o4 1l 780 780 0
OAtell 2tel 8EHMH S =& =0l
20,0003 »2H x93 360
OAtell2tel 8EHH NEns 2 35 &4
A8 IHOEI(&2) 70,0002 2 33| 420
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OLOINBEE U STUAFIAAY A 230l
& WEHI(146Y) 100,000& x146H 122 175,200
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s 61,160
& N 21,600 39,000 A 17,400
< 6,480
s 15,120
301 LA S 21,600 39,000 A 17,400
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SH: HEH=D
H: LOoEXZX(MEEX /L0 - HAE
Sel: ¥R CERED
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
D2UHIOIHAZEZS-19 A2 X ZYHIE KNKJA(BEX 26,000 0 26,000
)
= 26,000
301 dEtE M= 26,000 0 26,000
= 26,000
01 Al B & A 46 2 26,000 0 26,000
ORZLHY MYT H2AHIS X2 (2Y)
26,000,000 26,000
= 26,000
BE2IIE, HAdE2XZ8 (AMEEX/BEE - IIELHA) 7,914,109 7,917,455 N 3,346
= 3,386,276
& 2,272,753
= 2,255,080
BEAHHA S 5,950,262 5,720,431 229,831
= 2,733,851
& 1,995,702
= 1,220,709
HRI0lZ 2AX 64,426 64,900 A4T74
= 32,212
& 16,107
= 16,107
307 2iz2to| A 64,426 64,900 NAT4
= 32,212
& 16,107
= 16,107
10 MM SAANEEHESIGHEX 64,426 64,900 NAT4L
QUMW FHI(7IHA) 9,163,000& 9,163
= 4,581
& 2,291
= 2,291
Ox29d (11 A) 35,632,000 35,632
= 17,816
& 8,908
= 8,908
Os0HEAT #Holoelold X2 (8MHA)
19,631,000 19,631
= 9,815
& 4,908
= 4,908
Helold JseEd 30,000 2,800 27,200
= 15,000
& 7,500
= 7,500
402 SI2FXHE0| & 30,000 2,800 27,200
= 15,000
& 7,500
= 7,500
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L= B

el

=
i

2

30,000,000

HH A

30,000
30,000

15,000
7,500
7,500

2,800

U AT

241,250
156,812
42,219
42,219

241,250

301 LEIEN =

Mo A

241,250
156,812
42,219
42,219

241,250

241,250,000&

MW

241,250
241,250

156,812
42,219
42,219

241,250

MW

283,076
184,000
49,538
49,538

428,851

AN 145,775

MW

283,076
184,000
49,538
49,538

428,851

A 145,775

01 At2I 2 &
X 0

pS|
A
onaga=s

283,076,000&

UL Y

283,076

283,076
184,000
49,538
49,538

428,851

N 145,775

MR

. 116,302

725,596
195,353
195,353

917,841

198,461

307 glztol &

Mo A

. 116,302

725,596
195,353
195,353

917,841

198,461

1A SEXAIE E =
OZ2R0t Es=(158Y)

1,116,302,000&

MR

, 116,302
, 116,302

725,596
195,353
195,353

917,841

198,461

—
e

cltd X

H

928,535
928,535

875,976

52,559

307 glztol &

928,535

875,976

52,559
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o 280}
25

Sl BENHIA BT CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
== 928,535
11 AISI S XA E = 928,535 875,976 52,559
OQI3~5M Sl & (226Y) 928,535,000 928,535
< 928,535
EFWIA oA XA 2,464,455 2,623,288 A 158,833
= 1,232,227
< 616,114
i 616,114
307 21201 A 2,464,455 2,623,288 A 158,833
= 1,232,227
< 616,114
i 616,114
10 ALSISXAIEEE2IHEX 2,464,455 2,623,288 A 158,833
O=23g 8oANHE X2 (84%)
2,440,943,0002! 2,440,943
= 1,220,471
< 610,236
i 610,236
OANMZABEHAIE BEKWAH(4Y) 23,512,000& 23,512
- 11,756
= 5,878
e 5,878
EUAHI HMHH K& 328,661 367,560 A 38,899
= 164,329
= 82,166
= 82,166
307 2Iztol ™ 328,661 367,560 A 38,899
= 164,329
< 82,166
= 82,166
11 AISI S RIASEE = 328,661 367,560 A 38,899
Ogd ALK &l (52Y) 98,387,000 98,387
= 49,193
= 24,597
= 24,597
OuAMBHAFX AL (2Y) 1,800,000& 1,800
= 900
< 450
= 450
O=sEESUAN SEE2 2L (578)
74,023,000 74,023
= 37,011
= 18,506
e 18,506
OBZUAM(HEES MLUA)XE(12¢)
154,451,000& 154,451
= 77,225
< 38,613
e 38,613
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L= B

el

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

0H

S8 elold X

o

0

HH A

25,780
12,890
6,445
6,445

25,780

307 21201 &

HH A

25,780
12,890
6,445
6,445

25,780

Ol K& (1H) 25,780,000&

U AT

25,780
25,780

12,890
6,445
6,445

25,780

Ao

golga2g A

EURLY

96,192

23,122
73,070

103,434

AT, 242

307 glztol &

M H

96,192

23,122
73,070

103,434

NT,242

1A SXAIE E =

OZZE OO0l HAR 0124H (12)
232,000

Oogold gt 24gHl XA 67,200,000

OOEI0IESAL BII25+2 IR (66Y)
23,760,000

Mo

VN

EUNL

96,192

5,232

1,570
3,662

67,200

16,800
50,400

23,760

4,752
19,008

103,434

AT, 242

M

1,200
600
300
300

2,000

A 800

wW
2
e
=t
H
sl
oy

Mo

1,200
600
300
300

2,000

A 800

1R2IEt2 4=
2

QUEBZY 2SR (12HA)
1,200,000

Mo W

1,200

1,200
600
300
300

2,000

A 800

glojeold 249 43t X

Mo

3,600

1,080
2,520

900

2,700
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X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 3,600 900 2,700
== 1,080
= 2,520
11T A EXAIEEX 3,600 900 2,700
Ogelelold 29 &4dst N¥ 3,600,000 3,600
= 1,080
= 2,520
92 A 2,660 3,368 AT708
201 gEt24H Y| 1,040 1,328 A 288
01 AP 2t 2] d| 800 1,148 A\ 348
OBSADLHS 98 S2MAY
8,000 x2H x50 800
02 B32ZH| 240 180 60
OBFAFSK L& 2 7Y
400& x50 12 240
202 o4l 1,620 2,040 AN420
01 2Ll 1,620 2,040 N420
ORSAD YN NS, A5 B4 Y24
2 (22) 70,000 2H x33| 420
OBEEd:R =3 20| 20,000& »2H x123| 480
OBSAE =& ZE =& |
20,0003 *3H * 120 A~ 720
Helold XHEAY 28,200 27,600 600
307 QI2t0| ™ 28,200 27,600 600
10 A SXNANEEHESIGH EX 21,600 21,600 0
ONelold 29Hl =JHX &
150,000 1200 A «12& 21,600
11T A EXAIEEX 6,600 6,000 600
ONelold 8B H E88 S AA
6,600,000& 6,600
st Ex0iis X 5,000 5,000 0
307 giztol A 5,000 5,000 0
04 CIZ2tSHALAIS B X 5,000 5,000 0
OSEZ EXKQ AU WX 5,000,000& 5,000
oHelold et dsE2 XA (KHA) 30,000 0 30,000
401 A& HI L E0HHI 30,000 0 30,000
01 Al&H| 30,000 0 30,000
ONelold St EsE2 XJAY
30,000,000 30,000
ool X 300,265 271,133 29,132
= 210,185
& 27,025

no
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X ZH -
L= B

el

= A

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

HJ

63,055

307 21201 A

MR

300,265
210,185
27,025
63,055

271,133

29,132

300,265,000&

Mo

300,265

300,265
210,185
27,025
63,055

271,133

29,132

Ot

OlS=20l A2ddH K&

M

660

198
462

660

307 glztol &

Mo

660

198
462

660

1 U
K o

(@)
o1
O ;=
=
S ©

O A28 &8 K&

660,000&

M

660

660

198
462

660

2
0x
J
Ju

HT
fo

2 X2t 1l ol At

HH A

187,301

74,537
30,010
82,754

278,442

A91, 141

0x

I
Jo
=
o
0z
0
e
Ho
02
aal
0

MW

134,098
67,049
20,115
46,934

123,816

10,282

307 glz2tol ™

MW

134,098
67,049
20,115
46,934

123,816

10,282

o
=] S
OA%EEZQ H_|6H AHEEA _S_Oodxl_orj

o= A

134,098,000&

HH W

134,098
134,098

67,049
20,115
46,934

123,816

10,282

Mo H

9,116
6,382

820
1,914

9,116

307 21201 A

Mo R

9,116
6,382

820
1,914

9,116

10 A SXAEHE2SEHIEX

9,116

9,116
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AR
3N 21
GRS

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

9,116,000& 9,116
6,382

820
1,914

MR

HEZS5LXNANE SMAL SE8+E 4,320 8,640 ~4,320

1,296
3,024

EUNE

307 21201 & 4,320 8,640 N4,320

1,296
3,024

EUNL

10 A SAAEHISSHIEX 4,320 8,640 A4,320

4,320,000& 4,320

1,296
3,024

UL

d== HioHA 2=H & 2HEdl X2 1,580 1,580 0
1,106
142
332

MW

wW
2
e
=z
H
[
oy

1,580 1,580 0
1,106
142
332

MW

S| 2EY M +5l=2 1,580 1,580 0
O&=% IohHA 22 ¥ 2t¥Hdl X&

1,580,000& 1,580

1,106

142

332

HH A

O ZEHEXNAIE 2EH =X 38,187 0 38,187
7,637
30,550

UL

307 glz2tol & 38,187 0 38,187

7,637
30,550

Mo

10 A SANAIEHISSHIEX 38,187 0 38,187

38,187,000 38,187

7,637
30,550

EUNL

Mas 220t SXNAEIA K& 765,985 939,097 A173,112
245,183
115,063
405,739

Mo

I

o

FENEERNANE 28 N 384,129 384,129 0
64,439
319,690

EUNE
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2AM: JIEd=s
BE: SRS, OHSNSH(MESX/2S - HEL0H)
el HAS REXIIE =XAHHIA A (e:@e)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
307 QI2t0| & 384,129 384, 129 0
< 64,439
= 319,690
10 MM SAANEEHESIGHEX 345,129 344,089 1,040
OANE2HHI (=) 9,040,000 9,040
o= 2,712
= 6,328
OANEZSAX E8E 5,760,000& 5,760
== 1,728
= 4,032
O2dd|(Kgolg) 330,329,000 330,329
o= 49,549
= 280,780
11 A EXAIEE X 39,000 40,040 AN 1,040
Oo0tsal g2 1,600, 000& 1,600
[ 480
= 1,120
OO0ls 2t Al Y| 7,300,000 7,300
& 2,190
= 5,110
O=& 0 &l 50,000& *26H 1,300
== 390
= 910
OsdtHBEZ 2 A Y| 1,200,000& 1,200
o= 360
= 840
O0lsMEE3E| 2,600,000& 2,600
== 780
= 1,820
OE AKX NEHEEZ 25,000,000 25,000
o= 6,250
iy 18,750
MNAS SEE2IIE T XA XSAY 64,940 64,940 0
& 19,482
iy 45,458
301 dEtE M= 64,940 64,940 0
& 19,482
= 45,458
01 Al B & X 262 64,940 64,940 0
ONMAS St22IIE MESXJZ 59,440,000 59,440
= 17,832
= 41,608
OMAS SE2IIE XMEUs &X23
5,000,000& 5,000
= 1,500
= 3,500
OMAS S22I1F H0OIE M8l
500,000 500




AN =D
HM: BRIE, HE=SIST(MI=EX/ES - HELHA)
¢l MAs 22XIHE sSXAMHA X& (&)
. - . 4 =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 150
s 350
SIREEIENYE 2=l 266,655 175,970 90,685
= 213,323
< 26,666
s 26,666
301 LEHZ 266,655 175,970 90,685
= 213,323
< 26,666
s 26,666
01 MI2EZE 06z 266,655 175,970 90,685
OBERIE OISLSEl, XSS FH 5L
=1l 266,655,000 266,655
= 213,323
< 26,666
s 26,666
IS AS NI AMG (RIS AIL) 12,200 12,200 0
= 6,100
< 1,830
s 4,270
307 glz2tol & 12,200 12,200 0
= 6,100
< 1,830
s 4,270
11T M SRAISE EX 12,200 12,200 0
OBR2IIE SXAE YAk o481z N
12,200,000& 12,200
= 6,100
= 1,830
s 4,270
FAHEEREE HEXA 15,520 1,279 14,241
= 12,416
< 931
s 2,173
301 EEMZ 15,520 1,279 14,241
= 12,416
< 931
s 2,173
01 MI2EZE+06l= 15,520 1,279 14,241
OFAHEREZ ALY 15,520, 000& 15,520
= 12,416
< 931
[ia 2,173
SIRRINESXAILE 0SS MHEIA XA 19,061 21,181 22,120
= 13,344
< 1,715
i 4,002
307 glz2+ol & 19,061 21,181 n2,120
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AN =D
HM: BRIE, HE=SIST(MI=EX/ES - HELHA)
Chel: MAS 2RRIE SXAMHA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 13,344
< 1,715
= 4,002
11T MISXAS EX 19,061 21,181 n2,120
OtRR2IIEEXNAE Ot0ISSAMHA K&
19,061,000& 19,061
= 13,344
< 1,715
[ 4,002
HAs 882D MEZEZ Yl K& (KA 3,000 3,000 0
301 LBEAZ 3,000 3,000 0
01 MEIEBEZE+05l= 3,000 3,000 0
OMas 8220t 2ZH K&
300,000& 102+ = 3,000
EUNESAE 2L 0 480 320 160
201 €824y 480 320 160
01 At 2t 480 320 160
ORXRESALE o ?let S20HAHI
8,000& »2H »302 480
22AHS XN 28,080 23,400 4,680
= 1,404
s 26,676
HAE X2&IF S22 & 4,680 0 4,680
< 1,404
s 3,276
307 21201 A 4,680 0 4,680
= 1,404
s 3,276
11T AL SXAEE X 4,680 0 4,680
OMAS ZEINSE SEI| RAXNIAANY
4,680,000 4,680
< 1,404
[ia 3,276
ALAAHE 2EEHFI XN 8,400 8,400 0
307 21201 A 8,400 8,400 0
05 RIZt2IEt = 8,400 8,400 0
OAQAHE 22E 40,0003 2100t = 8,400
L HSELEHEAIH X 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
05 BIZERI & 3 15,000 15,000 0
OX2AAHE &EHE X 15,000, 000& 15,000
&2 AIEN &8s X3 79,690 53,382 26,308
= 13,740
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AN =D
HM: BRIE, HE=SIST(MI=EX/ES - HELHA)
Cel: OGEEsHEsS (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 173,830
= 52,149
= 121,681
307 i+l & 347,660 339,540 8,120
= 173,830
< 52,149
s 121,681
05 RIZHRIE 3 347,660 339,540 8,120
O22IE & U2sHEsXNJAEH 29
347,660,000 347,660
= 173,830
= 52,149
e 121,681
Augs @ JUMES YR2USAHUHAXRE 163,008 158,022 4,986
= 81,504
< 24,451
fia 57,053
307 glz2tol & 163,008 158,022 4,986
= 81,504
< 24,451
i 57,053
05 RIZHRI & 3 163,008 158,022 4,986
OXHZsE & ItHME & YRusAHHA X
2 163,008, 000& 163,008
= 81,504
< 24,451
= 57,053
ZE0I8A SHAAME A XA 31,788 30,088 1,700
= 15,894
< 4,768
s 11,126
307 glz2tol & 31,788 30,088 1,700
= 15,894
S 4,768
s 11,126
05 RIZHRI &t 3 31,788 30,088 1,700
OZE0|2 SHIMHA XI& 31,788,000 31,788
= 15,894
< 4,768
[ia 11,126
CGE3otE Adadoge X 37,660 34,724 2,936
= 18,830
< 5,649
s 13,181
307 21201 A 37,660 34,724 2,936
= 18,830
< 5,649
[ia 13,181
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AN =D
HM: BRIE, HE=SIST(MI=EX/ES - HELHA)
S OGRasAHE=EH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 37,660 34,724 2,936
OUIsltE e XIF 37,660,000 37,660
= 18,830
< 5,649
[ia 13,181
Ol JI=E83d ZEAY 33,943 30,108 3,835
= 16,972
< 5,091
[ia 11,880
307 21201 A 33,943 30,108 3,835
= 16,972
< 5,091
e 11,880
05 RIZt2IEt = 33,943 30,108 3,835
O0lE0 JIs&d ZEAY 33,943,000 33,943
= 16,972
< 5,091
i 11,880
22012 X AL XA 15,500 17,773 A2,273
= 7,750
< 2,325
s 5,425
307 gl2tol & 15,500 17,773 A2,273
= 7,750
< 2,325
s 5,425
05 RIZHRI & 3 15,500 17,773 N2,273
OZE0I2X AL NI (S3=m0USSY)
15,500, 000& 15,500
= 7,750
< 2,325
s 5,425
Ct23It= Atdl2tel At 35,850 31,866 3,984
= 17,925
< 5,378
s 12,547
307 gl2tol & 35,850 31,866 3,984
= 17,925
< 5,378
s 12,547
05 RIZIRIE 3 35,850 31,866 3,984
OC23ItE Atell &2l K& At 35,850,000 35,850
= 17,925
< 5,378
s 12,547
ZE08X 2H HsSHE N2 3,300 3,300 0
< 990
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AN =D
HM: BRIE, HE=SIST(MI=EX/ES - HELHA)
Sl DRSS ATSY
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
o 2,310
301 LEXZ 3,300 3,300
< 990
s 2,310
01 MEIBEZE 05z 3,300 3,300
OZE0l2d IAFHSHE K& 3,300,000 3,300
< 990
[ia 2,310
ZE0I2A 2320 &€& e N 29,250 29,250
< 8,775
[ia 20,475
307 21201 A 29,250 29,250
< 8,775
[ia 20,475
10 ALSISXAIEEE2IHEX 29,250 29,250
OZE0I2X 220 &4E& HE XN
29,250,000& 29,250
= 8,775
s 20,475
HAZE &L OGRS XNJMEH BEMF SESHY 14,040 14,040
< 4,212
s 9,828
307 21201 A 14,040 14,040
< 4,212
i 9,828
10 ALSISXAIEEE2FHEX 14,040 14,040
O2ZIE & U2INSNJAUE SAX S
=g 14,040,000& 14,040
< 4,212
s 9,828
0ot M2lold CO2s0lafns 2% 3,600 3,600
< 1,080
e 2,520
307 glz2+ol & 3,600 3,600
< 1,080
s 2,520
05 RIZtE = 3,600 3,600
OX0tdl= oelold U2solaina 24
3,600,000& 3,600
< 1,080
[ia 2,520
ZE202HY MR2ER0 29 6,552 6,552
< 1,966
e 4,586
307 glz2tol & 6,552 6,552
= 1,966




2N B
Hz: BERIIE, d=2XST(AMI=EX/ES - ISLHA)
e URssAHE=H (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 4,586
05 QIZtR E 2 6,552 6,552 0
OZE01210d M2E20] 24 6,552,000& 6,552
= 1,966
= 4,586
Ct2sotd XI& 180,640 200,840 A 20,200
201 et | 480 320 160
01 AP 2t 2] H| 480 320 160
OUREIE AR4HES 28 S2OHA Y|
8,000 x22 %20 320
OUE3IIE XNEANY =22 s ME
2,000 x80H 160
202 044 2,460 2,820 A\ 360
01 2Ll 2,460 2,820 A 360
OUES3IIE XNIAY 92 =3 2]
20,000& 23 »30 1,200
QOUR3IIE sA o1 dR48 20| (2
2l) 70,000 x63| 420
OUES3IIE NEAMNY s2dux A 20|
(22) 70,000 2H x63| 840
307 QI2t0| & 177,700 197,700 A 20,000
05 QIZtRES 6,000 6,000 0
OAHLIE ¢ O23IIIFEXNJEH &9 XA
500,000 x12& 6,000
11T A EXAIEEX 171,700 191,700 A 20,000
OUEesIIs 2223 g8
2,500,000& *2J} + 5,000
OUE2&IIE stats =AM 12,000,000& 12,000
OUR3IE BIOIZZE(EHAA
52,600,000 52,600
OXOIteE 282 ES 10,800,000 10,800
OEHd! &2 10,000,000& 10,000
OX -4 -H o= 15,000,000 15,000
O3k 23 17,000,000& 17,000
OESAAE 25 L HR2MA 20,000,000 20,000
OCtHO YY), 2H(2AHA), BE(BEHY) UsD]
7,300,000& 7,300
OZE0|2IAF FOUOI2ZAF THAALS
22,000,000 22,000
FHAHE OHSES(ASISX/HAHSNL) 5,380,651 5,608, 155 ~227,504
2 1,488,383
S 13,000
== 947,752
= 2,931,516
O£ X MHlA DBt &= 5,380,651 5,608, 155 N 227,504

_32_




SN O
A H o
SRRV

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

1,488,383
13,000
947,752
2,931,516

HOH

Ots=EXAE 29 1,813,531 1,813,531 0

251,723
1,561,808

M

307 21201 & 1,813,531 1,813,531 0
251,723
1,561,808

M

HE2IHEX 1,763,909 1,763,909 0
OOtsLsSAId 29 (2HA)  1,701,429,000& 1,701,429
221,186
1,480,243
ONESANEL S (37Y) 44,280,000 44,280
13,284
30,996

EUNE

VR

O OISY|AE HPT2I2(57Y)
18,200,000 18,200
2,366
15,834
1 AP S XA 2 5 49,622 49,622 0
OANSOtSHE s ZHI2(38)  4,500,0008 4,500
1,350
3,150
ONEOIS MESE(528) 43,922,000%! 43,922
13,177
30,745
OA&OLS +5013HI(128) 100,000 122 1,200
360
840

UL

EURLY EUNE

Mo

ZAEXs Ots NHEXA 37,357 7,037 30,320
26,149
3,363
7,845

HoH W

307 glztol & 37,357 7,037 30,320
26,149
3,363
7,845

M

1A SXAIE E = 37,357 7,037 30,320

OZ3AHH Nsots dE HIE 1,242,000 1,242
869
112
261
OZH e Xs Ots Atdll2teldl  36,115,000& 36,115
25,280
3,251
7,584

Mo H

HH A
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SAM: Ot

g FH OlSES (MIEX/FHLAESIE)
&2 OSSR MHA JIE &5 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E2sE20ts ANEEEHS NE 50,000 90,000 A 40,000
< 15,000
s 35,000
301 LEd = 50,000 90,000 A 40,000
< 15,000
s 35,000
01 Ml2ZHE 6= 50,000 90,000 A 40,000
OJE=le 2 AL A0t ANEEFHHS(1
19) 5,000,000& x10H 50,000
< 15,000
s 35,000
E5E20ts NE=E N& 69,837 69,837 0
= 55,551
< 5,259
s 9,027
301 EEd = 69,837 69,837 0
= 55,551
< 5,259
[ia 9,027
01 MI2ZHE 6= 69,837 69,837 0
OESZZ0ts ME+g XA (15¥)
69,837,000 69,837
= 55,551
< 5,259
s 9,027
Na2S0ts € SAAEXE 1,700 1,930 A 230
201 Let249H] 480 710 A 230
01 At 22l 480 710 A 230
OOs=XAE NEEE L ofsER=0l T
g SE20HAldl 8,000& x2E » 152 *23| 480
202 (4l 1,220 1,220 0
01 = LH A b 1,220 1,220 0
OOtsEXAIE XNE 22 g2+ FHHLI
20,0003 x2H x 10 *23] 800
OOtS=EX MY nE &4 223 JFUHAELI(
220) 70,000 x2H »33] 420
glls ots=24a N 214,200 158,175 56,025
< 214,200
307 21201 A 214,200 158,175 56,025
< 214,200
11T MISRASEX 214,200 158,175 56,025
O&JIE Ots=4 XA (340%) 214,200,000& 214,200
< 214,200
gdstE ots=s4a NE 149,850 149,850 0
< 44,955
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2N
X ZH -
L= B

el

A

- -2 (E) - MEA

H
=]

=
i

2

HJ

104,895

307 21201 A

M

149,850

44,955
104,895

149,850

A S XA E X

Ogsts ots=24 XA (350¥)

149,850,000&

Mo

149,850

149,850

44,955
104,895

149,850

O
1
o
Pl
{0

Mo

,008,061

706,033
90,725
211,303

1,001,448

6,613

HH

,008,061

706,033
90,725
211,303

1,001,448

6,613

1,008,061,000&

Mo H

,008,061
,008,061

706,033
90,725
211,303

1,001,448

6,613

Ots=2g XXM At&H|

A&

Mo A

114
80
10
24

376

A 262

201

1o
i
H0
02
=

HH A

114
80
10
24

376

A 262

01 At 22l bl

Oots=< A&

24

114,000&

U AT

114

114
80
10
24

376

A 262

02
Q
o
00
50
1
o
Paal
10

Mo A

19,097
13,368
1,718
4,011

19,097

MW

19,097
13,368
1,718
4,011

19,097

19,097,000&

H

19,097

19,097
13,368
1,718
4,011

19,097
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SAM: Ot

B 3

=
i

2

EUNL

135,720

16,716
119,004

135,720

UL

135,720

16,716
119,004

135,720

01 M2 H +4

OJtESIe s

O
o b
m
b
i
A=
2

OENSEEW/ P
MITH)

OENSESEW/ TS|
MITH)

oy

{0

0

H

2 (50¥) 120,000,000&

Mo

JIHEAS MU ety stE|
*

1,500,000 «3H

M

IIEAEHURIZZ XIR(33
20,000 +33 1201 &

M

YRS EEMHI(33
50,0003 33 28

M

135,720

120,000

12,000
108,000

4,500

1,350
3,150

7,920

2,376
5,544

3,300
990
2,310

135,720

0x
40
Jm
0z
=]
H
oo
]l
pa]

0

Mo R

2,879
2,015
259
605

2,877

Mo R

2,879
2,015
259
605

2,877

01 M2 & & 24

OJHgA&0=

HE2E8s XA (429)

2,879,000

U AT

2,879

2,879
2,015
259
605

2,877

OrSZEAH I X

Mo A

123,393
86,375
11,105
25,913

49,219

Mo H

123,393
86,375
11,105
25,913

49,219

bXIR(1259)

123,393,000&

H

123,393

123,393
86,375

49,219
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2N
X ZH -
L= B

el

SN FE B (3H) - MSA

Off &t 24

=

i
2m

M

11,105
25,913

ASotsdEH 28 X&

MW

849,120
424,560
127,368
297,192

841,680

7.440

307 21201 &

MW

849,120
424,560
127,368
297,192

841,680

7,440

10 A SAAEHISSHIEX

-Jl=2gHl

OXNSOotSHHSE X & (1294 4)

849,120,000

A

849,120
849,120
849,120

424,560
127,368
297,192

841,680

7,440

s
19
=)

i
>
o
O
=
-
i
g
4>
00
-
0

EUNL

28,080

8,424
19,656

28,080

307 glz2tol &

Mo

28,080

8,424
19,656

28,080

10 A SXAAEHE2SEH

OX<SotsSHE SAL S

f

A&
28,080,000&

VN

28,080

28,080

8,424
19,656

28,080

Jm
0x
g
sl
19
Q
O
rx
o
4
M
P
0

Mo A

13,200
6,600
1,980
4,620

10,956

2,244

307 glz2tol &

Mo

13,200
6,600
1,980
4,620

10,956

2,244

10 ALl S XAIEEE 22l

H
gl

OSHYE XNd0otsdH X2 (2004)

S2HY IR (HL)

—SEQ2Y FIKL(1MHA)

10,800,000&

MW

2,400,000

Mo R

13,200
13,200

10,800
5,400
1,620
3,780
2,400
1,200

360
840

10,956

2,244

ANSG0tSHEH SACeI SR A X

H

64,822
32,411

64,822
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A I ZSH=E
HM: FAYZE OISES(MSEX/FHSLHESIH)
e OS2 X MHlA Dt &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 32,411
307 2iz2to| A 64,822 64,822 0
= 32,411
= 32,411
02 QIZFA AAIE E X 64,822 64,822 0
O2ALIZI 2822 AY X (40A)
64,822,000 64,822
= 32,411
= 32,411
XNE0ots4dH Ol20ls S244H A& 327,600 327,600 0
& 65,520
= 262,080
307 2Iz2to| & 327,600 327,600 0
== 65,520
= 262,080
11T AISIEXAIE EX 327,600 327,600 0
OX<ots4dH 0lE20ts S4H X
327,600,000& 327,600
& 65,520
= 262,080
NEotsSHE SAXEOE o1AHH K& 43,200 46,800 A 3,600
307 2Iz2t0| & 43,200 46,800 A 3,600
11 A EXAIEEX 43,200 46,800 A 3,600
OX<EotsHdyH sAdgd oAy K&
00,000& x 120 A~ 120 & 43,200
XNY0lsSHEH SAZT20 NEAMHE(EX) 32,292 32,292 0
o 9,688
= 22,604
307 212t0| & 32,292 32,292 0]
o= 9,688
= 22,604
11 A EXAIEEX 32,292 32,292 0
OXG0tSHEH S ATR20 XNAMY(BX)
32,292,000 32,292
= 9,688
= 22,604
XNEotsHE 29l XS (XA 38,808 0 38,808
o=} 7,762
= 31,046
307 212t0| & 38,808 0 38,808
= 7,762
= 31,046
11 A EXAIEE X 38,808 0 38,808
OXNY0otsSHEH 29I X (XA
38,808,000 38,808
o 7,762
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2N Ot
Ha: o
Sl OFS =X Al

ot 2E (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 31,046
ANE0tsdEH =S8 S0tY At 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OZgEZXNAOISHEHAYS =S &0tE &
t 5,000,000& 5,000
ANSG0otsdyH S#ZHd K& 10,000 10,000 0
= 5,000
< 1,500
s 3,500
402 RI2HXt20l ™ 10,000 10,000 0
= 5,000
< 1,500
[ia 3,500
02 It 2 AL EZ (01X TH ) 10,000 10,000 0
OXYotsdH 3L & 10,000, 000& 10,000
= 5,000
< 1,500
e 3,500
HLUME 8233 29 10,350 10,350 0
201 L4l 140 140 0
01 At 22l 140 140 0
OfUNZ 2t &0 X 70,000 «20H 140
202 (44l 210 210 0
01 SLHOIYI 210 210 0
ORUMEZ 42 =38 I (22)
70,000& *33] 210
307 21201 A 10,000 10,000 0
02 HAFHAANFEE 10,000 10,000 0
ORUAZE=22s 882243 X&
10,000, 000& 10,000
FANES OIS SSHUIA NIAMNS(SHAEE) 146,208 272,268 A 126,060
= 116,966
< 8,772
e 20,470
201 L4l 97,408 97,408 0
= 77,926
< 5,844
i 13,638
01 At 22l 39,350 39,350 0
OEHYAEE AYFA AIdRX2E £ 237
2l 19,390,000 19,390
= 15,512
< 1,163
[ 2,715

_39_




2N Ot
Ha: o
Sl OFS =X Al

SN HE -G (3A) - NBAY - B2 0l &k o il
OCEXitE A= d=28 =l
400,000 x4 x23| 3,200
- 2,560
== 192
2 448
OCHAEE 29 g24+82 98 S2044lY|
8,0002 +42 180 5,760
- 4,608
== 346
2 806
OCHAEE 2EAS L #HUOIH 519 &
Mg 1,000, 000& 1,000
= 800
& 60
2 140
OCREAEE 282 HE 2 2
2,500,000& x4 3| 10,000
- 8,000
& 600
= 1,400
02 3524t 5,650 5,650
OCRAGE QB2 ¥ HAZUS S
650,000 650
- 520
& 39
iy 91
OEHAEE NESX K574 2,000,000& 2,000
= 1,600
= 120
= 280
OEEAEE XN=EX B2 1,000, 000& 1,000
- 800
& 60
= 140
OEEAEE XNsX =8K X H| 2,000,000& 2,000
= 1,600
= 120
= 280
03 A2 E H| 52,408 52,408
OEEAERE T2 29 (LA2 ,HEH S)
32,408,000 32,408
= 25,926
== 1,944
= 4,538
OEEAEE HEHZT S #HAR2Y
10,000, 0003 *24! 20,000
= 16,000
= 1,200
= 2,800
202 04 dl 8,000 8,000
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SN O
A H o
SR

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2Hm
==
£l
Ol
0y

6,400
480
1,120

Mo

01 SLHOYI 8,000 8,000 0

OLEEAEE
=LH O I

AN sy
L0002 *494 %403] 3,200
2,560

192

448

I_

1
02
o
I
Kl
K0

2 0l

Mo H

f=LHO
*AH 1204 2 4,800
3,840
288
672

O
In
o
|>
m
Im
4>
02
e
¥
0z
Mo
x
=
I>
&
0

=
)
S
o
S
S
0

Mo A

301 LEtEHS 24,100 24,100 0
19,280
1,446
3,374

Mo A

01 AlSl B B X453 24,100 24,100 0
YAERE

CHatxr =228 X&
24

=

,100,000& 24,100
19,280
1,446
3,374

M

307 21201 A 16,700 16,700 0
13,360
,002
2,338

Mo R

,700 16,700 0

O
n
VR

2
1o
f
o
> 4
f
==
>

16,700,000& 16,700
13,360
,002
2,338

HHoH

1
X
o
o
o
o
et
>
o
>
>
0
B
o
hi
fon
2

S ) A 15,000 62,919 AN4T,919

12,000
900
2,100

Mo A

201 Yer2 oy 8,000 0 8,000
6,400

480
1,120

MW

a]] 8,000 0 8,000

,000,000& 4,000
= 3,200
& 240
s 560




2N Ot
Ha: o
Sl OFS =X Al

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
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